# Desrivation for conduction Hilfness matrix  

$$\begin{bmatrix} K \end{bmatrix} = \frac{KA}{L} \begin{bmatrix} 1 & -1 \\ L \end{bmatrix} = \frac{KA}{L} \begin{bmatrix} 1 & -1 \\ L \end{bmatrix} = \frac{KA}{L} \begin{bmatrix} 1 & -1 \\ L \end{bmatrix} = \frac{KA}{L} \begin{bmatrix} 1 & -1 \\ L \end{bmatrix} = \frac{1}{L} = \frac{1}{L$$

$$= \int_{a}^{1} \left[ \frac{1}{12} - \frac{1}{12} \right]_{a} + Adx \quad dv = Adx$$

$$= KA \left[ \frac{1}{12} - \frac{1}{12} \right]_{a} + \frac{1}{12} \int_{a}^{a} \int_{a}^{a} \int_{a}^{a} \int_{a}^{a} \int_{a}^{b} \int_{a}^{$$

Docivation of stiffness matrix with anduction and force end convection. Conduction 2 T2 Convection TI Ti, T2 - nodal temperature at the respective nodes. Assume Convection Occurs only from the right end of the element Conduction stiffness waterioc [k] = 14[-1] convection stiffness malarix [Kh]end = II h ENJ TENJ d A R - Reat transfer coefficient, W/m²k R - Reat transfer coefficient, W/m2k Shape function [N] = [N1 N2]  $= \left( \frac{1-\alpha}{1} - \frac{\alpha}{4} \right)$ Onsider Convection only at the free we At node 2  $2 = 1 \begin{bmatrix} 1 & N_1 = 0 \\ N_2 = 1 \end{bmatrix}$ [N] =  $\begin{bmatrix} 0 & 1 \end{bmatrix}$ end INJT = [0]

Dovivation of stiffness matrix with conduction and  
free end convection.  

$$T_{1} = \frac{1}{1 + 1} = \frac{1}{1 + 1}$$

$$T_{1}, T_{2} = - nodal temperature at therespective nodes.
Assume convection occurs only fromthe right and of the element
Conduction stiffness matrix
$$[M_{h}]_{end} = \iint h (MJ T_{h}) d A$$

$$R - Reat transfer coefficient, W/m^{2} h.
Shape function (MJ = M(1-1))
We consider convection only at the free
$$end = 2 = 2e = 1 \begin{bmatrix} 1 - 2e \\ 1 \\ 1 \end{bmatrix} = \begin{bmatrix} 0 \\ 1 \end{bmatrix}$$

$$[M_{1}] = \begin{bmatrix} 0 \\ 1 \end{bmatrix}$$$$$$

## Prof.Dr.M. Subramanian /ME402 Finite Element Analysis / SNS College of Technology

$$\begin{bmatrix} N \end{bmatrix} \neq \begin{bmatrix} M \end{bmatrix}^{T} \\ \begin{bmatrix} K_{n} \end{bmatrix}_{n=1}^{T} = \iint \begin{bmatrix} h \\ 1 \end{bmatrix} \begin{bmatrix} 0 & 1 \end{bmatrix} dA \\ = \iint \begin{bmatrix} 0 & 0 \\ 0 & 1 \end{bmatrix} dA \\ = \iint \begin{bmatrix} 0 & 0 \\ 0 & 1 \end{bmatrix} dA \\ = \iint \begin{bmatrix} 0 & 0 \\ 0 & 1 \end{bmatrix} A \\ = \iint \begin{bmatrix} 0 & 0 \\ 0 & 1 \end{bmatrix} A \\ = \iint A \begin{bmatrix} 0 & 0 \\ 0 & 1$$

Desivation of Stiffness matrix with conduction, convection and internal heat generation. Kyay RyA ~ B 2 T<sub>2</sub> Tig Consider a rod is subjected to conduction, Surface convection and internal heat generation. K - Thermal Conductivity in W/m K Q - Internal heat generation in h h - convertion coefficient in W/m2k > We know that Conduction stiffness watrix for one dimensional dement 19 Convection stiffness materix at element susface is given by [K] = [[h[N]T[N]ds = hp j'[NJT[N] dx [:: ds=pxdx, P-perimeter of the element = hp  $\int \left\{ \frac{l-\infty}{l} \right\} \left\{ \frac{l-\infty}{2} \right\} \left[ \frac{l-\infty}{2} \frac{\infty}{2} \right] doc$ 

$$=h_{p}\int_{0}^{1}\left(\frac{\left(l-z\right)^{2}}{l}\left(\frac{l-x}{l}\right)\cdot\frac{z}{l}\right)\frac{z}{l}dx$$

$$=h_{p}\int_{0}^{1}\left(\frac{\left(1-\frac{x}{l}\right)^{2}}{\frac{x}{l}}\cdot\frac{z}{l}-\frac{x^{2}}{l^{2}}\right)dx$$

$$=h_{p}\int_{0}^{1}\left(\frac{\left(1-\frac{x}{l}\right)^{2}}{\frac{x}{l}}\cdot\frac{z}{l}-\frac{x^{2}}{l^{2}}\right)dx$$

$$=h_{p}\left(\frac{x+\frac{x^{3}}{312}-\frac{x^{2}}{1}}{\frac{2l}{312}}\cdot\frac{x^{2}}{\frac{2l}{312}}\cdot\frac{x^{3}}{3l^{2}}\right)$$

$$=h_{p}\left(\frac{y_{s}}{l}\cdot\frac{y_{s}}{l}\right)$$

$$=h_{p}\left(\frac{y_{s}}{l}\cdot\frac{y_{s}}{l}\right)$$

$$=h_{p}\left(\frac{y_{s}}{l}\cdot\frac{y_{s}}{l}\right)$$

$$=h_{p}\left(\frac{y_{s}}{l}\cdot\frac{y_{s}}{l}\right)$$

$$=h_{p}\left(\frac{x}{l}+\frac{z}{l}\right)$$

$$(k) = (k_{c}) + (k_{b})_{s}$$

$$(k) = \frac{k_{c}a}{l}\left(\frac{1-1}{l}\right) + \frac{h_{p}l}{l}\left(\frac{2}{l}\cdot\frac{1}{l}\right)$$

Derivation of force matrix for heart transfer produce. #G) Fosce matrix due to free end convection. {F\_h}\_end = h T\_a A [N\_2 at x = 1] = h To A foi } (cc) Force matrix due to subface convection and internal heat generation. {Fh} = I h To [N] Tds = Ih To [N] T Px dx  $= \int_{0}^{l} T_{\infty} [N]^{T} P dx = \varphi h T_{0} \left( \begin{pmatrix} l - k^{2} \\ 2k \end{pmatrix} - 0 \right) \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right) = \varphi h T_{0} \left( \begin{pmatrix} l^{2} \\ 2k \end{pmatrix} - 0 \right$ 

Finite Element equation for heat transfer problem.  
(i) writing finite element equation for one dimension  
leas conduction problem  

$$\{F_{2}^{2} = \{K\}\{T^{2}\}\}$$
  
 $\frac{N_{A}}{2} \begin{pmatrix} 1 - 1 \\ -1 \end{pmatrix} \begin{pmatrix} T_{1} \\ T_{2} \end{pmatrix} = \begin{cases} F_{1} \\ F_{2} \end{pmatrix}$   
(ii) writing finite element equation for  
Generated on with free end onvection  
 $\{F_{2}^{2} = \{K\}\{T^{2}\}\}$   
 $\begin{pmatrix} K_{A} \begin{pmatrix} 1 - 1 \\ -1 \end{pmatrix} + hA \begin{pmatrix} 0 \\ 0 \end{pmatrix} \end{pmatrix} \begin{pmatrix} T_{1} \\ T_{2} \end{pmatrix} = hToA \begin{cases} 0 \\ 1 \end{pmatrix}$   
 $\begin{pmatrix} K_{A} \begin{pmatrix} 1 - 1 \\ -1 \end{pmatrix} + hA \begin{pmatrix} 0 \\ 0 \end{pmatrix} \end{pmatrix} \begin{pmatrix} T_{1} \\ T_{2} \end{pmatrix} = hToA \begin{cases} 0 \\ 1 \end{pmatrix}$   
 $\begin{pmatrix} K_{A} \begin{pmatrix} 1 - 1 \\ -1 \end{pmatrix} + hPA \begin{pmatrix} 2 & 2 \\ 1 \end{pmatrix} \begin{pmatrix} T_{1} \\ T_{2} \end{pmatrix} = aAI+PhTEJ \begin{pmatrix} 1 \\ 1 \end{pmatrix}$   
A - Area of the element, P- percinator  
 $K_{-}$  Insule on ductivity of the element, To -fluid temp